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| Part A: Yocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence,
Then mark your cheice on your answer sheet,

She's not very ---------- in the way she treats her children; they may be punished today for
something they were rewarded for yesterday!

1} dominant 2} restrictive 3 ) consistent 4) proportional

She has the -===------ of being one of the few people to have received an honorary degree from
the university this year,

1) extraction 2) detection 3) distinction 43 simulation

Financial ---------- on the company are preventing them from employing new staff,

1} resolutions 2) deductions 3) approaches 4} constraints

The pattern -——--—--- from our analysis of the accident data shows that bad roads are
responshible for the majority of accidents.

1} occurring 2} assuming 3} identifying 4) emerging

The changes to the national health system will be ——---—-- next year; people won't have to
worry about long waiting lists for hospitals anymore,

1) converted 2} intervened 3) accompanied 4y implemented

The course is essentially theoretical in—--—--——-- , but vou'll need some practical work experience
before you can apply for the job.

|} process 2} function 3) onentation 4y exploitation

The report suggests that there has only been a(n) -----—---- improvement in women's pay over
the past few years. )

1) ulimate 2) eventual 3) marginal 4} enormous

She gave me this jumper, which she had ---------- herseif.

1) knitted 2) knitted 1t 3) been knitted 4} been kmitted 1t

The teacher sugegested that Ali -—----——- the lesson at least twice before taking the test.

1) reviews 2) review 3) reviewed 4) reviewing

He was in such bad shape and asked for my help. It was impaossible (0 ———--—- 3

1) refuse 2y refusing 3) refused 4y be refused

Part B: Cloze Test

Directions: Read the following passage and decide wiich choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

- e ——

—e e

Hurricane Floyd, one of the most powerful storms ever (11) ----emmu- in the Atlantic, has pounded
the Central Bahamas and set its sights (12} -----eeeee FFlorida. The storm brought heavy rams and
strong winds of up to 200 kph., (13) -----vmmm- residents sought refuge in boarded up homes.
Forecasters say Floyd is capable of (14) ---------- destruction and the states of Florida and Georga
have ordered more than two million people (15} ----===--- the Atlantic shareline.

1y recoding 23 to record 3) recorded 4) was recorded

1) to 2} on 3y 1n 4} from

1} as 23 that 3y whose 4y which

1) mass Z2) a mass 3} the mass 43y that mass

1) evacualed 2} to evacuate 33 for evacuation 4} cvacuating
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PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing the
best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheel.

e —

Quite frequently, manufactured products have unnecessary precision, production operations, or
parts. Simple redesign can eliminate these, lowering costs and increasing manufacturability,
reliability, and profits. For example, Russian liquid-fuel rocket motors arc intentionally designed to
permit ugly (though leak-free) welding, to eliminate grinding and finishing operations that do not
help the motor function better. Some Japanese disc brakes have parts toleranced to three
millimeters, an easy-to-mect precision. When combined with crude statistical process controls. this
assurcs that less than one in a million parts will fail to fit. Many vehicle manufacturers have active
programs 1o reduce the numbers and types of fasteners in their product, to reducc mventory, toohing,
and assembly costs,

Another producibility technique is near net shape forming. Olten a premium forming process can
eliminate hundreds of low-precision machining or drilling steps. Precision transier stamping can
quickly produce hundreds of high quality parts from generic rolls of stecl and aluminum. Dic
casting is used 1o produce metal parts from aluminum or sturdy tin alloys (they arc often about as
strong as mild steels). Plastic injection molding is a powerful technique, especially it the special
properties of the part are supplemented with inserts of brass or steel.

When a product incorporates a computer, it replaces many parts with software that fits into a
single light-weight, low-power memory part or micro-controller. As computers grow faster, digital
sighal processing software is beginning to replace many analog clectronic circuits for audio and
sometimes radio frequency processing. On some printed circuit boards (itscll a preducibility
technigue), the conductors are intentionally sized to act as delay lincs, resistors, and inductors to
reduce the parts count. An important recent inmovation was the use of “surface mounted”
components. At one stroke, this climinated the need to drill most holes in a printed circuit board, as
well as clip off the leads after soldering . In Japan, it is a standard process to design printed circuit
boards of inexpensive phenolic resin and paper, and reduce the number of copper layers to onc or
two to lower costs without harming specifications.

It is becoming increasingly common to consider producibility in the imitial stages ot product
design, a process referred to as design for manufacturability. It is much cheaper to consider these
changes during the initial stages of design rather than redesign products alter their initial design 18
complete.

Redesign is criticized on the grounds thatit.................0
1} may not be cost effective

2) may lead to only simple changes

3) eliminates many nccessary elements

4) increases producibility rather than manufacturability

The first producibility technique .....c.oeveaie. A

1} was limitled to rocket motors 2} was introduced by Russian engineers

3) included the issue of precision in products 4y led to only one instance of failure i Japan
The word “climinate” in line 2 means .......cooiiviennn

1) manage 2} remove 3) decreasc 4y evaluate

The example of Japanese disc brakes shows that .................. A

1) unnccessary precision can be avoided 2) the failure ol parts 1s most hkely

3} precision is generally casy to meet 4) the best degree of torcrance 1s 3 mullimeters
According to the passage, the specifications of the product .o..oeevviienn. .

1) were printed on paper in Japan 23 showed the number of copper layers

3) explained the process of designing 4} did not change despite a decrease n costs
The usc of tin allovs was reasonable because they ..o ;

1} increased the speed of die cast 2} were better than mild stecls

3) resulted ina powerful technique 4y were strong cnough to be used
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According to the passage, it is true that .......
[} a micro-controller can replace a computer

2) changes should be thought of before redesign
3} generic rolls are the result of high quality parts
4} most holes were eliminated because of soldering

PERFEFEEFEch R ow

In recent times, industry in general has begun to accept that the engineering of systems, both
large and small, can lead to unpredictable behavior and the emergence of unforeseen system
charactenistics. Decisions made at the beginning of a project whose consequences are not clearly
understood can have enormous implications later in the life of a system. and it is the task of the
modern systems enginecer to explore these issues and make critical decisions. There is no method
which guarantees that decisions made today will still be valid when a system goes into service vears
or decades after it is first conceived but there arc techniques to support the process of systems
engineering. Examples include the use of sofl systems methodology, Jay Wright Forrester’s svstem
dynamics method and the Unified Modeling Language (UML), each of which are currently being
cxplored, evaluated, and developed to support the engineering decision making process,

Systems engincering often involves the modeling or simulation of some aspects of the proposed
system 1n order to vahdate assumptions or explore theories. For example, highly complex systems
such as aircrall are usually modeled and simulated before flight. In this way the initial aeroelastic
engineering and control equations can be drafted and improved upon before any physical system is
ever constructed. Since aircrall are often very expensive, this reduces the expense and difficulty of
debugging the controls and reduces the risk of crashing real aircraft. Careful initial testing and {light
envelope expansion are typically still required 1o reach acceptable levels of safety and performance
in advanced aircrafi.

The role of the system engineer, together with (perhaps) a safcty engineer, is especially
important when systems must have especially predictable/reliable behavior, For example. power
plants (especially nuclear), medical machinery, and spacecrafil usually consist of many individually
engineered and manufactured parts, by different companies. System engineering provides the
assurance that normal operations (and even some explicitly defined abnormal operations), including
parts fallures, will not provide a hazard for the user or anyone else in the community. Other high-
reliability, potentially hazardous applications are communications systems, or commercial systems,
such as ATM machines, where failures can cause serious loss of property or serious economic or

cost savings, as well as providing a reasonable (up-front) assurance ol the eventual success of the
project.

Generally, a neat breakdown of roles and responsibilities among the various types of architects
and engineers can’t be done, as there are no neat boundaries, but instead a continuous overlap -
which is program and people specific. That is, there are no neat boundaries between systems
architecture and systems cngineering, or between systems engineering and  sofltware
cngincering/architecture (or any of the other “ilities™). Only the hardware engineer still maintains a
(relatively) neat boundary, but even that may be violated, depending on the people and program.

The best title for the passage would be ....ovvvvnann :

1} The Scope of Svstems Engineering 2) The Recent Developments in Engineering

3) How to Function as a System Engineer 4} The Characteristics of Industnal Engineering
The word “which™ in line 9 refers to ..ooooiiviiinnan, A

L} s0ft svstems 2} system dynamics

3) method and modeling 4) Forrester’s method and the UML

To make sure that their predictions about a system 1s right, svstems engineers have
L | P —

1) make entical decisions 2) stop the breakdown of roles

3) cooperate with safety engineers 4) avoid using unforescen system characteristics
The example of spacecraft is given to show ...y

1y the functions of mdividual engineers 23 the importance of assuring rcliable behavior

3) that some manufactured parts are not sale 4y that some engineering systems are complex
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All of the following are true about systems engincers EXCEPT they ..oocooiiiial., :
1y reduce the possibility of a system failure

2) put forward theories to model new systems

3} try to make sure that we can depend on a system

4) are engaged m areas ranging from medicine to saving budget

The word “hazard™ in line 24 is closest in meaning to .................. :

1) cost 2) doubt 3y danger 4y problem
In making decisions, ..oovvvvninian s

1} unpredictable behavior should be removed

2) soft systems methodology 1s the most dynamic type

3) there 15 no absolute guarantee of 1ts vahdity in the long run

43 enormous implications should be considered only later in the life of the system
According to the passage, it is NOT true that ........coooiil .

1} parts failure 1s a type of operation

2) the UML 1s used to help make decisions

3) the improvement of a system before its construction 1s possible

4} hardware engineers may violate specific programs in a system
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1) DIM Temper! (7) i o
20 GOSUB 200 At g oo 32 (g9, ] a2as 0 5o am e Blas (Y
k1) GOTO 250
200 Hl=Temper! (1) s ] B (g b, azs i iy 3
210 FOR K=2 T07 ot o S1) 'y ee 3 Dl dm s 28T
220 I¥ Temper!{K)=II! THEN H!=Temper! (K)
230 NEXT K
240 RETURN
250 PRINT H!

DEFINT A-Z 02,18 (Sama Jolbe plaf & p; Basic abip sjo 29,5 -ITY

DIM A(100) asl el =1 sy (O
RANDOMIZE TIVIER

e ai oo SEIS 59, 1 azie o ol s A Tas (F

Jii,_}!.:.ﬁ Tl et (Y
N=100 oS Lule o o
FOR I=1 TO N F s (==
A(N=1 olas s (F
NEXT |

FOR J=1 TO N
K=INT (N*RND)+1
SWAP  A(D), A(K)
PRINT A(J)
NEXT J

ool plaf gueuigb o (Sequential) e lane oddn g 0 3500 58 A5 £ yghed ety GW-BASIC U ;0 7Y
LINE INPUT gz (f WRITE cs (v OPEN s (v CLOSE 52w (1

S g (Sequential) Jlaie  owpiws b osdgy So 0 GW-BASIC 0 157 of adl o8l oo oo S N oo 5,8 -IYF
ol b oya0 ploS j0 S d B pean abiils o laibigl S oy (Direct) piiae oo Uodigy

A0y ale e 4 S (F Dol lad (T et abig g g (T Lollana sdig (1
Pl 3 gl jl Suplad glhle | gidalip 30 0 luiliw] jue Sl gas jleslinu] pac =1TH
Fod alabls (9 (T aabip 6 wdy fes (¥ aslip st Tdapon (¥ aokip glt Cot o (0
fewl FORTRAN b3 ;0 SUBROUTINE cuie 5 0)lge jl Suplas -AYF
dusld L_gj'u{,i: g yoeord odggen (T dali g dim o laala 1,20 Cdags (O
aalip dass 7 lay o a8 aldble (8 e (T aoli ol b e o (Y
[=1 E:'M.}En !n-l_-‘uq iju. dor Wy FORTRAN d.nu'hr £ Ty
A(N+1) = M S o G MFFA(L) B2 0 &5 0 e S LA LT G g fuda on 2 O
DO WHILE (M /= A(I)) S o wolzr |, N 6 lges (Y
I'_)HI 235 o e M== AL} b o o8 a8 o e LA 4] i Joma 28 (Y
FIND DA i : [ L ?
PRINT *, | 18 e e ME=A(L) bjd o o8 w8 o clz LA )l gy e fu 2a (F

gl FORTRAN mily 5l ailsulzs oo jl eolizal y FORTRAN by axsla by COMPLEX oolo g4 31 eolanwl coje -1TA
! plad balides slas! aswloxs

plas zese (F el lay o e aladls U (T
3,10 Sty Jolas j15splu8 4 FORTRAN L ;0 FUNCTION gla! £4505 ko -1
55:3'_'};:." -.'_'.lljg,.'l..,..m 1_5"_}-":'"1 l_'l_:'u (T 1:_513 _}L.:_::-1 L_J:.‘rf_.: (v
¢l 313 gllye 31 Suplas s FORTRAN b; ;0 COMMON alos 5 aslis.l 1Y
dabi g 3 g0 felyl slaad usls (Y aolipmelyzl ley 3 8ra0 alalls poes alS ()
4l o Glpr ole piia laas | Jals (T aali g bzl lay el (Y
CCammnz ) dalip si> 2 sodl oo i J 31 FlPascal b 0 11
-1
| :=-15; {
Ji=-1; L
Writeln (I MOI} J); o A
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Speed = 75; fog wnlgs az yj Pascal aoliy = Glal 5l ax FEE";;? 17y
Fee ;= 0.0; 3K
IF Speed =35 Then Fee:= 200 20,0 (¥
ELSE IF Speed > 50 Then Fee := 40.0 40.0 (v
ELSE IF Specd = 75 Then Fee := 60.0; 60.0 (%
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COUNT = 1. :
WHILE (COUNT <= 10y DO
SUM = SUM + COUNT;
COUNT = 1; ¥
While (COUNT <=10) DO
SUM = SUM + COUNT ; COUNT = COUNT+1;
: v
COUNT =0;
While (COUNT ==10) DO
BEGIN SUM : = SUM + COUNT; COUNT := COUNT +1; ENDj;
(T
COUNT :=1;

While (COUNT <= 10) DO
BEGIN SUM := SUM + COUNT ; COUNT : = COUNT + 1; END;
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Var [I: Integer;
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?f}f‘]: MaxSize +1 (v

While (1 < MaxSize) and (A [1] = B [1}) do sy Byl S
I:=1+1; zeal (Undefined) -l (F

Sarray : = (A[l] = BlI]);

End
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IF X>=1 THEN X:=X+1 .
3T
ELSE IF X >=2 THEN X:=X+2; 4‘;
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*A','a': writeln (' Exceltent’); Very Good (v
'B'.'b' :writeln (' Very Good'); Bad Value (v
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'ptLdY, FL T writeln (' On Probation’ );
ELSE writeln('Bad Value')
End
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int mat[10][10),, j,s= 0; Ol 233 kel 8 alic £gama ()
for (i=10;i<10;+ +i) shsYl g Lol i ol Egora (¥
for(j=0;j<=i;++j) ol 8 gy, polie faama (¥
s +=mat[i]] j|; ol a3 5 yabie poema (¥
P s 0 1 S L dan s Sl i ci s 51 S el ol5GT cowl PI=3.14159 FLEETRTUSL g ST E DY TERPraan | 3
# define Area(X) ((PI)*(X)* (X)) (¥ # define Area(X) = ((P1)* (X)*(X)) 0
# define Area(X) ((P1* X)* X) (¥ #define Area(X)=Pl* sqr (X) (v
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int  a=5 |, b=6 ,e=3 ,m;

. VY[
if  (al=b || (c=atb)) N .
m=¢+ -+ ] {
else LY
m=++¢; v
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main ( ) 7 ()
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int =467 ; 46 (¥
printf (" % d", p(n)); 428 (v
return 0 ; 467 (t
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int n=1406 ;j=0 ; 0
‘{lﬂ Liny
j = n%1071:0; e
} while (n=n/10); LA
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switch (m=a+b/ {c-1)) ¥ i}
{ case 1: m= m+1; & (Y
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case 2: m=m*2; ¢
case 3:m=m+2: A (T
case 4:m=m+1;
break;
default :m=10;
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